Multiplication d'un Monome par un Binome (H)
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Simplifiez chaque expression.

C=2f(=fF - 4f)

- —82%(3z + 2)

3. 4s(—7s* — 35)

CdB(—d® - 9d2)

- —=3c(—8c" — 2¢Y)

4a*(Ta — 4)

- 2a*(6a° + 9a”)

- 8¢°(—3¢" + 8¢%)

—45%(—3s + 4)

- —8a(3a* + 9a°)
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Multiplication d'un Monome par un Binome (H) Réponses
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Simplifiez chaque expression.

—2f°(=f*+4f)
— 2f5 - 8f4

- —82%(3x +2)

— 2423 — 1627

45(—75% — 35)

— 9853 — 1257

d*(—d* — 9d?)
= —d’ — 9d

- =3c°(—8¢" — 2¢Y)

= 24c"% + 6¢7

4a*(Ta — 4)

— 28a° — 164"

- 2a*(6a” + 9a*)

— 12a° + 184°

8¢°(—3¢° + 8¢%)
= —24¢% + 644"

—45°(—3s +4)
— 125 — 165>

~ —8a(3a* + 9a°)

= —24a® — 724"
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